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UPCOMING ONLINE BATCHES

02 March 2022

05:30 PM to 07:30 PM

BANK ONLINE LIVE CLASS

01:00 PM to 03:00 PM

SSC ONLINE LIVE CLASS

BILINGUAL

BANK ONLINE LIVE CLASS

(BANK PO & CLERK)

09 March 2022

10:30 AM to 12:30 PM

BANK ONLINE LIVE CLASS

03:00 PM to 05:00 PM

BANK ONLINE LIVE CLASS

05:30 PM to 07:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL

March 2022

16 March 2022

BANK ONLINE LIVE CLASS

08:00 AM to 10:00 AM
BANK ONLINE LIVE CLASS

07:30 PM to 09:30 PM
SSC ONLINE LIVE CLASS

SSC ONLINE LIVE CLASS

BILINGUAL

23 March 2022

10:30 AM to 12:30 PM
BANK ONLINE LIVE CLASS

08:00 AM to 10:00 AM

SSC ONLINE LIVE CLASS

01:00 PM to 03:00 PM

SSC ONLINE LIVE CLASS

BILINGUAL

@ www.mahendras.org ) 7052477777/7052577777
.. | et | s SR . I —

30 March 2022

08:00 AM to 10:00 AM
BANK ONLINE LIVE CLASS

BANK ONLINE LIVE CLASS

10:30 AM to 12:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL
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The area of an equilateral triangle is V48 cm?2. What is the altitude of an
equilateral triangle?

Uh JUdTg FAYS DT &aAHd V48 cm? g | JHEIg FAYS D SHdlg &1 572

g o
- 443 )

b) 5cm

C) 2 cm

d) 3 cm
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mwb// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO cODE : E06321 /
The marked irice of an article is 20% more than its cost price. If a shopkeeper

make 540% Hiscount on that item and sold it at Rs. 2592. What is the marked
price of the item?

U I P Sifebd He ISP T [ T 20% eI T afe aﬁé GPGR 39 I
TR 40% P JC &l g 3 2592 ¥ ff ST § | 9% B Sifdbd Yo 71 82
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ﬁDU-WDSSEd a man, who is standing on a 1200-meter long
platform, in 24 seconds. Find how much time will the train take to cross the
platform.

600 Hicx Al Qﬁﬁé?[ 1200 HIeR dd GWCHH R Go U oY Bl 24 Jhs H UR
Bl o | Al AL DINU b ©ehH DI UR 6 H ¢ [l 7Y aill?

(e
E&:@: ___ a) 0 sec
drg b) 0 sec
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d}r& d) D sec
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Aman travels a distance r@ {/

and also travels a distance [ km from

km/hr. Find the average speed

mﬁﬂﬁﬁmﬁﬁﬂﬁv

?‘:

48

Y

m.Agra to Bhopal with a speed of 4 km/hr
Bhaopal to Chennai with a speed of 6

4

of the whole journey?
A STRT T HIUTe db 48 fdhal
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-5 . %m kmv/hr
d)
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A mixture of milk and water contain 10% water. Determine the amount of water
to be added to the mixture in order to change the water content to 20% if the
initially the mixture is of 40

o | gfc URINS Y01 40 diex U1, 99 Ay
[FER ST a1 U=t &1 JHEAT 1 DI |
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If we mix the present quantity of wine and water, the ratio of wine and water will
3 : 7. Find the amount of wine that should be replaced by the water, so that their
ratio will be 1 : 9 if the initial quantity of the mixture is 30 liters.

gfc g9 TRME 3R YT BT TdHH JET1 DI [Ferd ¢, df RIS SR Ul &1 S 3 - 7
T YR I AT J1d DI, St g1 wid1iad g1 =g T, difds 3T 3urd
1: 9 gl, gfc [Ayor ot YRf¥e AE1 30 il g |

a)
b)
C) )

d)
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P and Q can complete the work in 10/3 days, Q and R can complete the work in
20/3 days while P and R can complete the work in 4 days. In how many days P

alone can complete the work?

P 3R Q U B @I 10/3 &l H U1 IR I&d 5; Q AR R, 20/3 &1 H HH I
P ghd o; Sidid P AR R, 4 &1 H HTH G DR Fbd g | P 3fbhdl 39 DY B
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The average age of a class is 15 years excluding the teacher. The average age
of the class is increased by 1 when a teacher of age 36 years is included in the
group. Find the number of students in the class,

U D&l H [R1&D Dl DISHR, DT Bl 3Hd ol 36 9y I 3 & [RU&P
PI g H AHT B R D& DI 31T 3G H TP 9f< 8Idil &1 PaT H BB DI
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A alone can complete the work in 40 days and B alone can complete the work in
60 days. A and B works on alternate days then work will be completed in -

A 3{dl U DIH Bl 40 feHl T G PR bl § 3R B 3fdved H1H DI 60 fe-1 H W
PR bl 5| A 3R B dbf(U [l H DIH dd ¢ dl DI fdba- T § 91 g2

- ) ' days
@o ) days
C)  days
d) days
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Total cost price of notebook amo. The profit percentage earned
after selling a book and a notébook. s 15% a 10% respectively. Total selling
price of a book EWSQS. Find the difference between the cost

price of 3 Dook and a notebook.

qledd 3R YD BT S 3 Jﬂg’q 350 JUL HHRKIC &:jg;uﬁcg,q) a9 & dIG
3ifofa ey ufa=ra waer(f5% (O TP Tohdlld 3R Up HlegP P pa
O 395 304 g | Udh QI aﬁ?@ﬁ S T e R@d @ 3R Jd
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fAoferRad SRERAT §¢9 & ol Treas J1d Difore?

Find the median for the following frequency distribution?

X135?@11131517

f 1 11(10( 9 15|11 | 6
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The average age of 24 girls and their teacher is 25 years. If the teacher’s age is
excluded, the average reduces by 1. What is the teacher’'s age?

24 TSiddl 3R 3D A& I 314d 311G 25 98 ¢ | gl faid P o1 Dl geT
far SITg, dt S{IAd 1 4 Bl oiidl & | {181 DI 31y o1 82

Mot F—as a) ovs




%@Wé// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & Use PROMO cODE : E06321 /
Find out the median of values of this set 1 12.1, j/‘l/aﬂ)k‘fﬁand 12.3
11.1,12.1, 11.5, 11.9 3R 12.3 931

Ll )¢ )9 M2 128

a)
b)
— )
d) 21
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What is the area of rhombus if its two diagonals are in ratio 3 : 4, and sum of
diagonals is 56 cm?

3G JHIGUS BT &AHd J1d PO, 59 al

[qull &1 T 56 THI 87
a) s
4 cm?
C) 0 cm?
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Find the amount at compound interest on Rs. 1000 at 20% per annum for nine
months if the interest is cmmpmunded alNE= terly.

1 a) s. 1160
20 b) s 1157.625
Q6| - C) s 1200
§oUS d) s 1100625
5 640 22— QLGI%L

fo—eo— _ &9 .C
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